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Jameya: 8
Subjcet: English 1% Paper
Full Marks: 100

Prescribed Book: English for Today for Dakhil Class Eight -NCTB

ACYT 479 8 FFI5q
. Item
Skills/Area Test Item Marks
1. | MCQ Seen 1x7=7
2. | Answering questions Passage-1 2x5=10
3. | Gapfillin 1x5=5
Vof:)abulagry (Synonyms & seen
4. Passage-2 1x5=5
Antonyms)
Part-A: 5. | Information Transfer Unseen 1x5=5
Reading-70 | 6. | True/False Passage 1x5=5
7. | Writing summary 10
8. | Matching 1x5=5
9. | Re-arranging sentences 1x8=8
Answering questions from poems in English
10 for Today (any 5 out of 8) 2x5=10
11. | Completing stories 10
Part-B: . -
Writing-30 12. Wr!t!ng p.aragraph in 120 words 10
13. | Writing dialogues 10
Total 100

Converted = 80

-1 2 Class Test & 1Assignment:

7+7+6 =20

In total = 100

s RIS 515107 2

= ReIT oI A7 8
1. English for Today: Unit: 1-3
2. Unseen Comprehension:
3. Matching
4. Re-arrange
5. Completing Story:
(i) Nobody trust a liar
(i) The rats and the monkey
6. Paragraph:

Open Practice
Open Practice
Open Practice

SN

(1) Our madrasah library

(ii) A tea stall
(iif) A winter morning
7. Dialogue:
(i) Write a dialogue between two friends about the necessity of
learning English in Bangladesh.
(if) Make a dialogue between you and your younger brother on
the benefits of early rising.
(iii) Write a dialogue between two friends on Environmental
Pollution.
> EIIEF =T 2
1. English for Today: Unit 4-7 & Unit 3 [Lesson-2]
2. Unseen Comprehension: Open Practice
3. Matching Open Practice
4. Re-arrange Open Practice
5. Completing Story:

(i) The honest wood cutter
(i1) A greedy farmer

6. Paragraph:
(i) A National Flag
(ii) Tree Plantation
(iii) Traffic Jam.
7. Dialogue:
(1) Write a dialogue between two friends about the importance of
tree plantation.
(i) Write a dialogue between you and your friend on how to
make a good result in the JDC Examination.
(iii) Write a dialogue between a doctor and a patient.
= A =[Nt 2
1. English for Today: Unit- 8-11
2. Unseen Comprehension: Open Practice
3. Matching Open Practice
4. Re-arrange Open Practice

5.

Completing Story: %



(i) Obedience to mother
(ii) A spider inspires a king
6. Paragraph:
(i) A Book Fair
(i1) Your Favourite Hobby
(iii) Climate Change
7. Dialogue:
(i) Write a dialogue between you and your friend about your
preparation for JDC Examination.
(ii) Write a dialogue between you and your friend on the merits
and demerits of using mobile phone.
(iii) Write a dialogue between you and your friend on the
importance of reading newspaper.
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Text Books:

1. English Grammar and Composition (Dakhil Class-8)
2. Practical English Grammar & Composition-(Class-8)

HICRI-b
R s &t Qm 7@
I 8 @o

YT 79 8 FIaI6d9

-NCTB
-Lecture Pub.

. Item
Skills/Area Test Item Marks
Gap filling activities with/without clues
1. | (parts of speech, wuse of articles, | .5x10=5
prepositions etc.)
2. | Substitution table 1x5=5
Part-A: 3. | Right form of V.erbs 1x5=5
4. | Passage Narration 1x5=5
Grammar-30 - - - -
Changing sentences ( Affirmative, Negative,
Assertive, Interrogative, Optative,
5. ) ! 1x5=5
Imperative, Exclamatory, Voice & Degree of
comparison)
6. | Punctuation and Capitalization 5
Part-B: 7. | Letter/E-mail (Formal & Informal) 8
Writing-20 8. | Writing short composition in 200 words 12
Total 50

s RSIFS =1S55530T =

= ReT FHIEe AT 8

1. Gap filling with clues Open Practice
2. Substitution table Open Practice
3. Right form of Verbs Open Practice
4. Narration Open Practice
5. Changing sentences Open Practice
6. Punctuation & Capitalization Open Practice
7. Letter/E-mail:
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(i) Suppose, you want to participate in the national debate
competition this year. Now, write an e-mail to the Principal
for permission.

(if) Suppose, you want to participate in the local science fair.
Now, write an e-mail to the co-ordinator of the science fair to
enlist your name. You may send the e-mail to
sciencefair@gmail.com.

(iii) Imagin you are Habib/Habiba. You have a friend Richard in
the USA. Now, write an e-mail to your friend inviting him to
visit your country.

8. Composition:

(i) The seasons of Bangladesh

(i) The value of time

(iii) Internet

= SEF A= 3

. Gap filling with clues
. Substitution table Open Practice
. Right form of Verbs Open Practice
. Narration Open Practice
. Changing sentences Open Practice
. Punctuation & Capitalization Open Practice
. Letter/E-mail:
(i) Write an e-mail to the superintendent/Principal of your
madrasah for a full-free studentship.
(if) Write an e-mail to your younger brother telling him about the
necessity of reading newspaper.
(iii) Write an e-mail to your friend inviting him to the marriage
ceremony of your elder brother.
8. Composition:
(i) Newspapers
(it) My aim in life
(iii) Floods in Bangladesh
= & AR 8

1. Gap filling with clues
2. Substitution table

Open Practice

~No ok, wN -

Open Practice
Open Practice

¢

3. Right form of Verbs
4. Narration
5. Changing sentences
6. Punctuation & Capitalization
7. Letter/E-mail:
(i) Write an e-mail to the superintendent/Principal of your
madrasah praying for a seat in the madrasah hostel.
(i) Write an e-mail to the superintendent/Principal of your
madrasah for a testimonial.
(iii) Write an e-mail to your friend congratulating him on his
brilliant result in the JDC Examination.
(iv) Write an e-mail to your friend condoling for his father’s
death.
8. Composition:
(i) Discipline
(ii) A journey by boat
(iii) Your village

Open Practice
Open Practice
Open Practice
Open Practice
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